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QUESTION 1

Which of the following is TRUE regarding user switching in a trusted context?
A. You cannot switch user id in a trusted context.

B. You can issue a switch-user request within a transaction.

C. The new user must have the connect-privilege on the database for it to succeed.

D. No password is ever required for the new user as an authentication is established in the trusted connection.

Correct Answer: D

QUESTION 2

Which of the following compatibility features is always active, regardless of the settings for the
DB2_COMPATIBILITY_VECTOR registry variable or the SQL_COMPAT global variable?

A. Implicit casting

B. Double-dot notation

C. Use of bitmap indexes

D. Selecting from the DUAL table

Correct Answer: D

QUESTION 3

Which of the following statements describe super exclusive (Z) locks for a table? (Choose two.)

A. No other applications can access the table

B. Only uncommitted read (UR) applications can access the table

C. The lock owner and other applications can read, but not update, the locked table

D. The lock owner can both read and update datA. Other applications can read the table

E. This lock is acquired under certain conditions, such as when the table is altered or dropped or an index on
F. the table is dropped

Correct Answer: AE
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QUESTION 4

Which of the following is designed for continuous availability, increased throughput of many concurrent short queries,
and easy scalability?

A. DB2 HADR

B. DB2 pureScale

C. DB2 Express-C

D. DS2 Database Partitioning Feature

Correct Answer: B

QUESTION 5

Which of the following authorities are sufficient for creating a database? (Choose two.)
A. DBADM

B. SYSADM

C. SECADM

D. SYSCTRL

E. SYSMAINT

Correct Answer: BD
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